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Instructions :

(i)  This question paper contains three Parts : 'A', 'B' and 'C'.

(i) Part'A'is compulsory for all candidates.

(i} Candidates shall attempt only one part of the remaining Parts 'B* and 'C'".

(iv) All parts of a question should be attempted together.

(v} Marks for each question are indicated against it.

| - @ (SrETeTE)
Part - 'A’ (Accountancy)
1. 3797 U HOMF H @3 A IR faRae| 2
Write the two difference between share and debenture.
2. WUl & WM & fafhe 9 qasy| 2

Enumerate the various sources of redemption of debentures.

3. o B g o IR R ey PR et wiv & siawa & wifve Rear st
ufen| 2
State any four points from accounting point of view which must be incorporated
in a partnership deed.

4. TO-3FO AT MG SO’ P & 3R &gl 2
Give any two points of distinction between 'Sacrificing Ratio’ and 'Gaining Ratio'.

5. ABIRCUSEHHI:2:1 P 3 § o fawom o €1 3@ @ av fsnom s
IRafefa &=d 1: 1 : 1 T @ Fofg o &1 3 e € o o7 o Fvraer fed o R

7 T RS A I 8
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foree 2 ast & amy -
were a¥ &f &Y T 40,000
feeia & &1 e 2 20,000
U UHE TA WAl R @ @ SAReE eidd sl 3
A, B and C are partners in a firm sharing profit in the ratio of 3 : 2 :1. Now they
decide to change in profit sharing ratio to 1 : 1 :1. They wish that the change in
profit sharing ratio should come into effect retrospectively, for the last two year.
The profit for the last two years were :

First year's profit ¥ 40,000

Second year's profit ¥ 20,000
Show the adjustment of profit by a single adjustment journal entry .
e s 3 v e ¥ 2,00,000 31 fireer iR A wa fasan! 2 50,000 e e
TR e 9 LRI & e T 100 TR & T 3w T W Fifird fed m e fefds
P [P ¥ HEYGH S wiareal s 3
Ajay Limited purchased a plant of ¥ 2,00,000 from Mittal Limited. Payment was
made T 50,000 as cash and equity shares of ¥ 100 each issued for remaining amount
at par. Give necessary journal entries in the books of Ajay Limited.
A % T 100 oY 100 WHAT 3791 31 T 50 3 WM €& 3w AT & YIIH 6 8 @ &R0
R fore 1 A, BB T 70 et 3w qoie: gaan A g i fose me 31 &=or sk g Pl
& o8 2 T vidftea it 4
A's 100 equity shares of ¥ 100 each forefeited due to non-payment of first and
final call of ¥ 50, are reissued to B for ¥ 70 per share as fully paid. Give the
journal entries for recording forfeiture and reissue.
Az fafis 3 wid Horom 2 100 & 10,000, 12% Fuma HRY foe e smes w 2 30 3R
HEe W 9 M 37 &) SHaT A 9,000 O & o amem fesar S gofe: smafen fese
T & 3R Iuges snfER i w B w1 e ffis & @t #§ e wfafie St 4
Rohan Ltd. issues 10,000, 12% debentures of ¥ 100 each payable as ¥ 30 on
application and remaining amount on allctment. The public applied for 9,000
debentures which were fully allotted and all the relevant allotment money duly
received. Give journal entries in the books of Rohan Ltd.
'SP & Fafafaa omst @ o et & -
(i) T 100 P AT 10,000, 12% HOA W R afcse 5 auf & a@ 5% MFaH |

YT A ¢
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(i) % 100 WS aret 10,000, 12% O 10% B W oifds 5 @81 & a1 T R Y-
arg |

3% & o F=feRaa aFte giafeal sifswe - 4

(a) A & fimE ) 3R

(b) @ 7S 3rafyr & a7 HOAT & GAHITAH W

A company issues the following debentures:

(i) 10,000, 12% debentures of 100 each at par but redeemable at premium
of 5% after 5 years.

(i) 10,000, 12% debentures of ¥ 100 each at a discount of 10% but
redeemable at par after 5 years.

Pass the journal entries to record the :

(a) issue of debentures and

(b) repayment of debentures after the given period.

10. O T, SEXIGH Bl M GOl & HER W 3FE a9 e T daR B
T VI §U T 2,400; R BT fHRram A T 140; 181 I T 700; Fa= Tg | Wi
qfer T 1,500; faFEnlt | wie saver ¥ 7205 WEw gow T 600; & T 1,200
YUAR-ARE T 144; o g T 240; 3 T 1,200; BUTS T 7@ WA T 360; SO 6
&1 W T 1,020; TR B ASIRd T 816; fagga @@ ¥ 480; fsvman 3R @R T 600
e : af & 3ra ¥ 3@ da9 T 300 TUT 3G TeaT T 500 ATl Hiex o T 200 R e
2| A5 T 1 T 2017 T 1,116; Apg a1 31 @R, 2017 ¥ 3,5161 4
Prepare a Receipt and Payment Account of Chanchal Club, Dehradun from the
following information :

Receipts : Subscriptions received ¥ 2,400; Rent of Room ¥ 140; Games fee
T 700; Receipts from canteen ¥ 1,500, Interest on Investment ¥ 720, Entrance
Fees ¥ 600; Donation T 1,200.

Payments : Repairs T 144; Petty expenses T 240; Salaries ¥ 1,200; Printing
and Stationery T 360; Canteen stores ¥ 1,020; Wages of guard ¥ 816; Electric
charges T 480; Rent and taxes ¥ 600.

Note : There were outstanding salary ¥ 300 and accrued subscription ¥ 500 at
the end of the year. Furniture is to be depreciated by ¥ 200.

~.ash Balance 1st January, 2017- T 1,116.

Cash Balance 31st December, 2017- X 3,516.
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11. A3 B, 5 : 3 % g A AW @ faweE H@ gL WERR & C BH A T AR &
Y I A BT &1 7Y ARER B A AT R B 174 & & 3R B a0 TR 3 2/5 <
21 7 ey fasem s 3k @ @t s e 4
A and B are partners sharing profits in the ratio of 5 : 3. C joins the firm as a
new partner. A gives 1/4 th of his share and B gives 2/5 th of his share to new
partner. Find out new profit sharing ratio and sacrificing ratio.

12. 0% WRER) BH A T R Tuf & AR Frataied g& amw saman
WM @ T 20,000 Jdra ad 28,000
e afz22,000  aqd o 2 34,000
o & faferafsa $it 21,20,000 2|
Siiam @1 e A Y@ ge §ET ) Shua wiiawse & @ 10% 2l
IR 3raft A w1 st aftremit & S o & wa Trg B R W @l & Jea S uET

K] 6
A partnership firm earned net profits during the last four years as follows :

1st year¥ 20,000 3rd year 28,000

2nd yearT 22,000 4th year ¥ 34,000

The capital investment of the firm is ¥ 1,20,000.
A fair return on the capital having regard to the risk involved is 10%.
Calculate the value of goodwill on the basis of 3 years' purchase of average
super profits earned during the above mentioned period.

g (OR)
T A P AR Q, 3 : 2 % U ¥ Al &Y e gT AR &1 R @ A 1/4 9 & fore
AR ¥ yaer wRar 21 R 3 & w9 A 2 1,00,000 3R 31w e & it (Rfiem) & fore
T 15,000 & @ &1 aeas Sa Yidfear i
P and Q are partners in a firm sharing profits in the ratio of 3 : 2. R admit in
partnership for 1/4th share in profits. R brings ¥ 1,00,000 as capital andX 15,000 as
his share of goodwill (premium). Give necessary journal entries.

13. whre forfeds = T 50 uidr 3w aret 60,000 FwaT 379 0= € 10 i 3iw Mifias w sde smwfaa
e 3R FETT W 2 20 wfa 3w, I (it afEa) wew SR s m g w
80,000 37ei & fere 3= e ge 41 5,000 37 & fore smde @1 srdiga o fear wan an ik
9 3 R TS 3mdes far mar on | e areeme @ mat oY 3R e B wiwicd

600 37911 & w2 3R A graT o T O Bigdx g9 ag IRTAT I 81 U3 & 9 v
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14,

B 31 R for mar oM S e R 5w 2 60 B R ¥ i g e ) g fifia @&
fed me a1

Argn fofits & afgdt # snawas Jsama Hifswel 6

Mohan Ltd. invited applications for 60,000 equity shares of T 50 each issued at
a premium of T 10 per share. The amount was payable as follows :

On application and allotment T 20 per share. Balance (including premium) on
first and final call.

Applications for 80,000 shares were received. Applications for 5,000 shares
were rejected and pro-rata allotment was made to the remaining applicants. All
calls were made and were duly received except the first and final call on 600
shares which were alloted to Rohan. His shares were forefieted. The forefeited
shares were reissued at T 60 fully paid up.

Pass necessary journal entries in the books of Mchan Ltd.
Fgar (OR)
Preafafas ® Rufdrr foRke 2x3=6
(@) DHAR! ®id fawe asm
(@) s ua w5
(M g A
Write notes on the following :
(a) Employees Stock Option Plan (ESOP)
(b) Calls-in-advance
(¢) Minimum subscription

FrafeRed faawer | 31y ve aow &1 31 RweR, 2017 @ 9@ 8= are 3¢ & 319-30d |
Y|

mftq & Y @
wifterat R (7) | g IR (3)
Ay & 9N 2,350 | da= 1,200
W I 300 | fase = 120
= 3 T 525
2016 50 | @ty s 2,500
2017 3,500 | &= 200
2018 75 | a &R 1,000
Faae 100 | 9 (31-12-2017) 1,150
fafaer ama 320
¥ 6,695 T 6,695

| 1 a0, 2017 &) FreaferRaa wof 3k af & = T 800; TfER 2 2,500; 37T &%)
BR ¥ 350; OFER T 1,200

) [5] [P.T.0.
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31 BT, 2017 @ WG 3] HUSR &1 T T 700 U1 AR ¥ 550 &: IWE TR 75
R <l 5 W % 25 W TS g S Rl BAER & e 2 TR A 15%
10% B9 FIe 6
From the following particulars, prepare Income and Expenditure Account of a

Club for the year ended 31st December 2017.
Receipts and Payments Account

Receipts Amount (¥} | Payments Amount (3)

To Balance b/f 2,350 | By Salaries 1,200

To Entrance fee 300 | By Electric charges 120

To subscriptions : By other Exp. 525

2016 50 | By Fixed Deposits 2,500

2017 3,500 | By Utensils 200

2018 75 | By Creditors 1,000

To Refreshment 100 | By Balance ¢/d 1,150
To Misc. Income 320 | (31-12-2017)

T 6,695 ? 6,695

Following were the Assets and liabilities as on 1st January 2017 :

Utensils ¥ 800; Furniture ¥ 2,500; Consumable stores % 350; Creditors ¥ 1,200;
On 31st December, 2017, stock of consumable stares was T 700; creditors
were T 550; Outstanding subscription ¥ 75 and Accrued Interest on Fixed
Deposits was 2 25. Charges depreciation on the closing balance of Utensils and
Furniture @ 15% and 10% respectively.

15. T 3R v e o & wERR 3 31 REwR 2016 & 3o Frforivaa el faasor on

It ik af eFRIT () wfwat R ()
3T S 10,000 e 4,000
fafaer R 30,000 d® 56,000
d Fitiany 20,000 TER 30,000
T Tz 30,000 TR 12,000
T 18,000 T 24,000
L IRCIC IR a4 57,000
T 45,000
DI 30,000 75,000

T 1,83,000 % | 1,83,000
3 A B Frifes 7o R 68 § e & @1 Foflg A € -
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(31) Wied G5 & w9 § T 45,000 &0 & 3R 9% wids & o @ 1/4 e e a@om

(@ o B 3Rk § 7 30,000 ¥ T @ e s 31k &gl § @l @@ @ @ Ak
(@) W, wad 3R B @ 5% I gifaa e sl

(@ frer #on & e 5% wagm &1 fmio fear Fmel

THedie @, W gRerl & {5 @n sk 9 o @ fogr aesed 8
Ram and Shyam were partners in a firm. Their Balance sheet as on 31s¢

December 2016 stood as follows : https://www.ukboardonline.com

Capital and Liabilities |Amount ()| Assets Amount ()
QOutstanding Liabilities 10,000 Cash 4,000
Sundry Creditors 30,000 Bank 56,000
Bank Overdraft 20,000 Debtors 30,000
Bills Payable 30,000 Furniture 12,000
Reserve 18,000 Machinery 24,000
Capital Accounts : T Building 557,00C
Ram 45,000
Shyam 30,000 75,000

T|1,83,000 ¥11,82,000

They decided to admit Mohan in partnership on the following terms : .

(a) Mohan brings T 45,000 as capital and he will receive 1/4 share in future
profits. '

(b} A Goodwill Account for T30,000 to be opened in the books of the firm and
Goodwill Account should not remain in the books.

(c) The machinery, building and furniture to be depreciated by 5%.

(d) A provision @ 5% to be created for doubtful debts.

Prepare Revaluation Account, Capital Accounts of all partners and the

Balance sheet of the new firm.

Juar (OR)
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W 3R 9 v o R $ 9ReR &) 32 31 W, 2017 Y, e e g
frifed an, s o @ R aen Pt R -

(it [ ey (3) | gwhd gAY ()
ey o eR 2,700 | & % s 3,000
g BN 3,000 | fafder =R 850
AT O HOT Gl 3,000 | @me 4,700
gt / eforan 15,150
@MW 12,000 | wgr 6,000

T 12,000 | BAreR w4 el 3,000

T 32,700 T 32,700

Tg B 2 6,300 #, Geiter vd T @ 7 3,300 F on =femn 1 ¢ 13,800 W ¥
TRIBI &FERT A B T 800 B I YN &F, el @ve B da ¥ 2 4800 et | aERT B
% 2,600 QOf M ¥ gl agelt & 2 500 g2

BH & Gl DI §C B P (00 HIIS T+l Fiarear B

Rahim and Hemant are equal partners in a firm. They decided to dissolve the
partnership on 31st March, 2017 when the statement of affairs was as follows:

Liabilities Amount (%)| Assets Amount )
Sundry Creditors 2,700 |Cash at Bank 3,000
Reserve Fund 3,000 |Sundry Debtors 850
Hemant's Loan A/c 3,000 |Plant 4,700
Capital A/c : Stock 15,150
Rahim 12,000 |[Lease 6,000
Hemant 12,000 |Furniture and Fittings 3,000
T 32,700 T 32,700

The lease was sold for Z 6,300, fumiture and fittings for ¥ 3,300 and stock for Z13,800.

The book debts realised only ¥ 800, whereas plant realised ¥ 4800. The Creditors were
- paid ¥ 2600 in full settlement. Expenses of realisation amounted to Z500.

Pass the necessary Journal entries to close the books of the firm.

qrr- @ (o foeon o feeson)
Part - ‘B’ (Analysis of Financial Statements)

16. ‘focita faawon & fawdeor ¥ @ amerg & 2
What is meant by 'Analysis of Financial Statements'?

432 (IMZ) (8]
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17.

18.

19.

20.

https://www.ukboardonline.com

Aee vaTE RERor T $ B A Jied forfael 2
Write any two objectives of preparing Cash flow statement.
TR f0 3 arfiveral & 3 FreT e el aRe € -
1996 1997
foo! (I2) ¥ 8,12,500 T 14,91,800
3 i awg B e ¥ 5,98,000 % 10,54,700
T af & 1 qbet oy A I el 3
You obtain the following informations from the records of Sudhir Ltd.:
1996 1997
Sales (Net) 7 8,12,500 ¥ 14,91,800
Cost of goods sold T 5,98,000 ¥ 10,54,700
Find out gross profit ratio for each year.
it Frooor @ f5dl 1 ot &1 oo diiorel 3
Describe any three techniques of financial analysis.
3351 foro o fargn Tt 2
e frgat
afia I @) | et IR
w39 Yot 80,000 | 3w Wt 48,000
dgg vd anftra 40,000 | < wHRw 1,12,000
IS AT g4,000 | fafrim 8,000
§® rfufaed 8,000 | W 24,000
Y ETA L 32,000 | &R 24,000
P & o grau= 16,000 | d 9m 24,000
T | 2,40,000 Z |[2,40,000
For1 3t B O B -
(1) TRET S (i) e U (iif) SRt At (iv) e A 4
The following is the Balance Sheet of Anuj Ltd.
Balance Sheet
Liabilities Amount Assets Amount
(X) )
Equity Share capital 80,000 | Intangible Assets 48,000
Reserve & Surplus 40,000 | Fixed Assets 1,12,000
Mortgage Loan 64,000 | Investments 8,000
Bank Overdraft 8,000 | Stock 24,000
Creditors 32,000 | Debtors 24,000
Provision for tax 16,000 | Bank Balance 24,000
2,40,000 2,40,000
432 (IM2) [9] [P.T.O.




Calculate the following ratios :
(i) Liquid ratio  (ii) Current ratio (i) Solvency ratio (iv) Properietory ratio

21. FeaterRed gammsl & warem frmsit @ Jos wae fiewor daR Sifw- 6
faa=or 31-03-18 01-04-17
z z
av-gfs faaror &1 9y 60,000 80,000
EAER 19,000 28,000
&g T 2,400 -
qdea 1,600 1,200
gl (WD) 49,000 32,000
R 15,000 25,000
feRe e -

(a) TR W 719 T 24,000
(b) smfeRa wmfdr 2 6,000
(c) TR & fapg | iy 2 2,000
(d) 79 & s W & T 4,000

" Prepare Cash flow statement from Operating Activities from following

information :

Particulars 31-03-18 01-04-17
3 L4

Balance in Statement of

Profit and Loss 60,000 80,000

Debtors 19,000 28,000

Rent Payable 2,400 -

Prepaid Insurance 1,600 1,200

Inventory (Stock) 49,000 32,000

Creditors 15,000 25,000

Additional information :

(a) Depreciation on Machinery T 24,000

(b) Goodwill written off T 6,000

(c) Loss on sale of furniture T 2,000

(d) Gain on sale of Machinery ¥ 4,000

432 (IMZ) [10]
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- v (Fhelem AaiE)

Part - 'C' (Computerised Accounting)

16, HIPa i Yoel B HgeRon Haw § dfwe 2
Give in brief the concept of computerised Accounting System.
17. STOWY Ya=I Yomel ur &2 2
What is database management system.
18. EENH Y& YOMCHt & P A 329U Farge| 3
State any three objectives of database management system.
19. WHUE T WW & 797 I £7 3
What are the functions of structured query language?
20. v @1 FaT {59 ER & Pl aq J9GH 27 3
For what type of applications, Excel is appropriate?
21, (®) ¥ dua foo B Frafifen go & R ® #3 apw dar S 3
fim AR 0 o5 | @ LRI () |
31-3-2017 3 40001 | gaffteR 3 oM 5,00,000
31-3-2017 3 40004 | TR W 3t 50,000
31-3-2017 3 40006 | ¥ 10,00,000
darat T M R g
Design a Bank Voucher with the following information of M/s Chanchal ccd. :
Date V.No.| Code | Account Amount (3)
31-3-2017 3 40001 | Preference Share Capital 5,00,000
31-3-2017 3 40004 | Premium on Issue 50,000
31-3-2017 3 40006| Bank 10,00,000
Prepared by Ram Authorised by Shyam
(@) dud wnet o0 25 el &t Figes o &, s 3o 3 5@ daw, wdmg W, FoH
o r o) eafegf s wimfera &1 sy & Frow Freferaa 2
el @ TR B & fore FrfeRad steT @1 owo o0 e § 3w aRd g eR0
w0 o0 ¥ we fafae -
WO TRTAN S50 : T 25,000 1 36 6 < 4,000; % 35,000 T & 0 3 8,000
432 (IMZ7) [11] |P.T.O.
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¥ 45,000 7 I ¥ s | T 10,000
wredt arfergfel sem : g A7 1 25% B W ¥ BT =RAw T 7000 4

M/s Mangal Ltd. employs 25 persons whose salary comprises Basic
Pay,Dearness Allowance, House Rent Allowance and City Compensatory
Allowance. The following are the rules that govern the payment.

Write the queries in SQL using the following data in MS-Access to compute
the allowances :

House Rent Allowance : T 4,000 upto a Basic Pay of ¥ 25,000; ¥ 8,000
upto Basic Pay of T 3,5000; 10,000 for Basic Pay above T 45,000.

City compensatory Allowance : @ 25% of Basic Pay subject to a minimum
of ¥ 7000.

¥k Xk ok

f12]
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